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e A mlERS R UAHET | ¢ 40 1.0 | T 29,100 29,100
1 & 354,975
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(& %] [ =] (2] [Bfr] [Hf#] (& =]
2 [ HBRGRA) #6 kA B TR L
PRAE +w 0.7 | m3 13,600 9,520
B R BH 0.13m3 1.0 [ m3 4,430 4,430
ERMRL BH 0.13m3 34 0.3 | m3 14,700 4,410
ERHERL BH 0.13m3 RC-40 1.4 | m3 11,600 16,240
A et BH 0.13m3 2tDP 1.7 [ m3 3,340 5,678
A A e T = M £813~50mm 1.0 | & 8,120 8,120
eI ASEHZERR 15emPA 52| m 830 4,316
S AL IR A BH 0.13m #fiZEpUE4cm 1.4 [ m2 780 1,092
i BH 0.13m3 2tDP 0.1 | m3 8,680 868
sy 0.2] t 500 100
FJET (RIEIH) A MR JE3cm 1.4 | m2 2,980 4,172
YV ¢ 40 B =74 ) VA Y—3k 4.0 m 1,680 6,720
VP S0 675 1.0 [ m 2,030 2,030
HRER Ry —b W150 4.0 | m 200 800
1E7KAR HEEHT =V 640 1.0 | &Pt 51,800 51,800
NV CHI2E ¢ 40 1.0 | T 163,000 163,000
MANZR VAN PR =7 Ak ¢ 75%40 1.0 | & 1,000 1,000
PEA%
oy I K EE T Brak i kke ¢ 40 1.0 | & 16,000 16,000
PEA%

e A mliRIS R UAHET | ¢ 40 1.0 | T 29,100 29,100
2 #t 329,396

AR R M e




[& #F] # =] [BE] [H4r] [E{fH] [& #] [F *#]
3| UG A AR IR 1K 757 1
BRI BH 0.13m3 1.4 | m3 4,430 6,202
BRI REL BH 0.13m3 3§41 1.4 | m3 5,250 7,350
¥ K ¢75 1.0 | & 14,400 14,400
A=ANVET ISR L FEERITER 0 75 1ol @ 2,370 2,370
AA=IVET FEERITER 0 75 1ol @ 3,940 3,940
3 & 34,262
m & 1+2+3 718,633
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